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LIST OF FORMULAE

V = Ah where I is the area of a oross-scotion and I is the perpendicular
length.

, = !, Ah where A is the area of the base and l is the perpendicular height.

C =Znrwhere r is the radius of the circle.

A = ttf where r is the radius ofthe circle.

A = Jr{a + 6) & where a and b aretbc lcngths of the parallcl sides and ft is thc

perpendicular disance bctween the parallel sidcs.

l fat+bxts=9.

c
sinC

theo x = -bXJF+ac

Area ofA =Jrbhwhere 6 is the length of the base and ft is the

perpendloilar heigtrt

AreaofAl.Bg = 
labsnC

A;1;aofMBC= @

'wherre s = gl-Alg
2
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sinB 

=
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SECTION I

{nswer ALL thc questions in this section.

Allworking must be clearly shown.

(a) Calculate the exact value of:

(3 marks)

(b) The cash price on a camera is $450.00. It can be bought on hire purchase by making
a deposit of $90.00 and 12 monthly installments of $34.50 EACH.

11 +l
36

11 xl
36

Calculate

(i) the TOTAL hire purchase price of the carnera

(il) the amount saved by buyrng the carnera at the cash price.

(2 markr)

(l mark)

(c) Brent exchanged BD $200.00 for Ec cumency, using the exchange rate
BD $1.00: EC $1.35

(i) Calculate the amount he received in EC dollars. (l mark)

Brent shared the amount of money he received among Pat, calvin and Lyn.

Pat received j of the amount.
Calvin received EC $ I 08.00.
Lyn received the remainder,

(ii) Calculate

a) Calvin's share as a percentage of the total amormt shared
b) Lyn's share as a fraction of the total amount shared.

(4 marks)

Total ll marks

0t234020tsPEC 2008
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(a) Express as a single fraction:

: !_
q3

lf a o b: 2p - 5E, calculate tlre vah.rc of:

( i )  3 o2

( i i )  (3 .2) .  I

Faetorise complctely:

(r) +* -g

( i t )  mp+mq-np-nq

(iii) 2f +zxy+f

Giveir the formula

Y: tfh

reanange the forrnula to make r the subject of the formula.

Solve the equation:
z* * 3x-2: o

(b)

(c)

(a)

o)

(2 marks)

(l nark)

(2 markc)

(2 marks)

(2 markr)

(2 nerla)

Total ll marks

(2 narlrc)

(3 merkc)

0t23402otsPEc 2008
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(c) In a group of35 students,

25 students passed History

l5 students passed Geography

.r students passed BOTH History and Geography

6 students passed neither History nor Geography.

(i) Copy and complete the Venn diagram below to illustrate this information.

U

(2 marks)

(ii) Write, in terms ofx, an expression that represents the total number of
students.

(1 mark)

(iii) Determine the number of students who passed BOTH subjects,
(2 marks)

Total l0 marks

4. (a) A map is drawn to a scale of l:180 000. The actual distance between two towns
shown on the map is I 1.7 km. Calculate the distance between these two rowrs as
shown on the map.

(3 marks)

01234020/SPEC 2008
GO ON TO THE NEXT PAGE



(b)

6

The diagram below, not drawn to scale, shows a wooden prism. The cross-section
PQ& is a triangle with PQ = 14 cm, PR = 10.5 cm and < QPR: 90o.

(i) Calculate the area" in cm2, of the cross-section PQR.

The volume of the prism is I 470 crn3.

(ii) Calculate the length of the prism /, in cm.

(2 marks)

(1 mark)

(c)

s. (a)

(i) Using a ruler, a pencil and a pair of compasses, construct a tapezium
ABCD in which AB = 8.0 cnr, AD : 6.0 cm, CD = 5.0 clr, ( BAD = 90o and
<ADC = 90o.

(iD Measure and state the length of the side BC.

(5 marks)

(l mark)

Total 12 marks

An answer sheet is provided for this question.

The answer sheet shows triangle JKL and its image J'K'L'.

(i) Describe FULLY the transformation which maps triangle JKL onto its image
J'K'L'.

(3 marks)

(iil Show on your answer sheet, triangle J"K"L", the image of J'K'L' after a
reflection in the line x :3.

(3 marks)

GO ON TO THE NEXT PAGE

\
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(To be attached in booklet with your other answers)

Candidates Registration Number: Question Number:
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(a)

8

Tb disgraf, below, not drnwn to sc8le, shows the joumey o-fa ship whieh sailed

from port A to Port B;;th"" to Port C. Port B is iocated 32 km due West of Port

A and Port C is aS m from Port B on a bearing of040o'

Calculate, gwing )rour answers correct to 3 significant figures

(i) the distance AC

(ii) the bearing of Port C from Port A'

Totd 12 marks

The line segment BC passes tbrough the point A(-5'3) and has a gradient $ 
1'

(r) Express the eqnation of the line segment Bc in the formy = 
'tn 

* 
?r marr<s)

(ir) Show that BC is parallel to the lne 2x - 5y = 1' (2 narks)

The funstions f ar.td S are defined as:

n^,_2t- l  g6)=4x-5J6)=fr

(i) Determine:

a) 8(3)

b) fs(z)

c) J''@\ (7 marks)

Total 12 marks

GO ON TO THE NEXT PAGE

(3 marks)

(3 marks)

o)

u?340':}lsPEc 2008



7.
9

The data below shows the time spent, to the nearest minute, by 25 students at a bookstore.
20622rc13
22 26 18 22 28
l l  2t  27 24 ts2s28nsn
t2 25 t8 2t  23

(a) copy the frequency table below and comprete to represent the data given above.

(4 marla)
using a scale of 2 cm gn the x-axis to represent 5 minutes an{ 2 cm on the y_axis tofrxffiff 

snrdents, draw a .,*ur"tiu.i ftq;;;";;;;tr,n, time spenr at the
(4 marla)

Use your graph to estimate

(i) the median time spent at the bookstore 
(I mark)

(ii) the number of students who spent LES' than24minutes at the bookstore
(I mark)(iii) 

ffiJ,Xil rl,rT",ffi,;.:rdent, setec ted at random, spent LESS than 24
(2 marla)

Totil 12 marks

(b)

(c)

6 - t0

i l - t5

2t  -25

26 -30

3l  -35

2

6

l l

20

25

0t234020tsPEC 2008 GO ON TO THE NEXT PAGE
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8. The table below shows an attempt at calculating the sum of the cubes of the first n natural
numbers. Information is missing from some rows of the table.

(a) Study the pattem and complete, in your answer booklet, the rows marked (i), (ii)
and (iii).

(i)

n Series Sum Formula

I

2

3

4

5

6

l3

13 +23

13 +2x +33

13+23+33+43

13+23+33+43+53+63

I

9

36

100

441

12

7 t t+t) '

! <'*'>'

I o*tt '

I o*+>'

(6 marla)

O) It was further noted that:

l*2:  J-g :3,  l+2+3= J36:6 and l+2+3*4= Jib0'= 10.

Using information from the table above and the pattern in the three statements
above, determine

( i )  thevalueof xforwhich l+2+3+4+5+6= r f i  ( l  mark)

(i i) a formulainterms of n forthe series: | +2+3 + 4+... * n (l mark)

(iiD the value of: | +2 + 3 + 4 +... + 30. (2 marks)

Total 10 marks

(ii)

(iii)

GO ON TO THE NEXT PAGE
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SECTION II

Answer TWO Questions in this Section.

9. (a) Solve the pair of simultaneous equations:

f  :4-y

x=y+z (Smarks)

(b) ( i) Express l* +2x+ l intheform a(x+p12 +4where a,parrdqarercal
numbers.

{3 marks)

(ii) Hence, determine for f(x) :3x2 +2x + |

a) the minimum value for f(x)

b) the equation of the axis of symmetry. (2 marks)

(c) The speed-time graph below shows the journey of a car from 8:00 am to I 1:00 am.

€60
.j.

g
a

.+ .10
{2

E:{Xlen 9:00en 10:00am ll:00en
Time

Using the graph, determine

(i) the time at which the speed of the car was 40 km/h

(ii) the distance the car travelled for the entire joumey

(iii) the average speed of the car for the entire journey.

(1 mark)

(2 marks)

(2 marks)

Total 15 marks

\

\
I

\

\

0|23402A1SPEC 2008
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10. (a)

Determine, grving reasons for eaeh step of your answer

(i) < cBD

(ii) <cAB

(iii) the length of the chord BD

Determine, correct to three significant figures,

(D the measure of angle 0

(ii) the area of hiangle AOB

(iii) the area of the disc that was cut off

t2

The diagram below, not drawn to scale, shows a quadrilateral ABCD with
AB : 9.5 cm, BC : 4.5 cffi, ( ABC : 80o, <ADB :7Io and <DAC : 4lo'
The vertices of ABCD are on the circumference of a circle, center O, of
radius 5 cm.

(b) A machine produces circular discs of diameter 10 cm. The machine malfunctions
and cuts a disc to produce the shape in the figure below, not drawn to scale, with
center. O.

Use fi =3.14

(2 marks)

(2 marks)

(3 marks)

(3 marks)

(2 marks)

(3 marks)

Total 15 marks

GO ON TO THE NEXT PAGE

Stnl  \  Scm
/ \

01234020/SPEC 2008



(a)11.

t3

The vertices of a quadrilateral, OPQR are (0,0), (4,2), (6,10) and (2,g) respectively.
(D Using a vector method, express in the form |,: ), ,fr. vector\v ) -

a) OP

b) RQ (3 marks)

(ii) Calculate laFl, tf,. magnirude of OF . emarks)

(iii) State TWO geometrical relationships between the line segments Op and Re.
(2 marks)

(b) The matrix, Ko maps the point s(r,4) onto S,(-4,-l) and the point T(3,5) onto

T'(-5,-3). Given rl-rrc=(o 
bl

\c d) '

(D Express as a maftix equation, the relationship between

a) K, S and S'

b) K, T and T'.

Hence, determine the values of a, b, c and, d.

(2 marks)

(4 marks)

Describe COMPLETELY the geometric transformation which is represented
by the matrix K.

(2 marks)

Total 15 marks

END OF TEST

(ii)

(iii)

0r234020tsPEC 2008
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IT,TATHEMATICS
PAPER 02 - GENERAL PROFICIENCY

KEYADID IVTARKSCI{EME

Ouestion I

(a) . l  5 13
t-+-

3 6 =i_=
. l  5 l0
l -x -

369

l19
20

(Ar: CAO)

(b) Cash price

Deposit

Installments

$4s0.00

$90.00

$34.50 x 12

$414.00

Total hire purchase price = $90 + $414
: $504

Amount saved by buying cash:

$504-$450=$54.00

(c) (D Brent received

EC $(200.00 x 1.35)
= EC$270.00

(iD (a) calvin's share = lo8 * loo FT
270

= 40Yo

(b) Lyn,s share = F(!.9.)(r rool
_4

l5

FT

FT

(D

(iD

FT

A B c

I 2

I 2

I

I

I

I 2

I

I

I

I

I

2 2 I

3 5 3

01234020/MS/SPEC 2008
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(a) 1_ p
q3

Ouestion 2

=15 -  Pq
3q

(b) (D 3o 2 : 2(3) - s(2)
=_4

( iD (3.2) o I
=-4r l

=2 (4) -  s(1)
:  _13

(c) (i) 4xz -9
= (2x -3)(2x +3)

( iD mP+mq-nP-nq

m(p+q)-n(p+q)

(n-n)(p+q)

(iii) 2x2 +3xy + yz

2x2+2ry+ry+yz

2x (x+y)+y(x+y\

(2x+y)(x+y)

3

IT4ATIIEMATICS
PAPER 02 - GENERAL PROFICIENCY

KEY AND I\{ARK SCHEME

(A1: CAO)

FT

(Ar: CAO)

A B c

I

I

I I

I

I

I

I I I

I

I I

I

I

I

2 2 7

4 4 3

01234020/MS/SPEC 2008



MATHEMATICS
PAPER 02 - GENERAL PROFICIENCY

KEY AND MARK SCHEME

Ouestion 3

(a) v = nrzh

v
f7

oh 
= 

' -

(b)  2x2 +3x-2=o

(2x -l)(x + 2) = g

*=!  or-z
2

(c) (i)

(c)  ( i i )  25-x+x + l5-x +6

( i i i )  46- x =35

x=l l

I I students passed both subjects

F'T

A B c

I

I

2

I

I

I

1 I 1

I

I

I

,'
I )

3 4 3

01234020/MS/SPEC 2008



f,

MATHE1ITATICS
PAPER 02 - GENERAL PROFICIENCY

KEY AIYD IVIARK SCHEME
Ouestion 4

(a) l :180 000

ll .7 km=ll7A 000 cm

I 170 000

lg0 000 
cmonmemap

= 6.5 cm on the map

(b) (i) 
Area of poR - l4cm xlo.Scm

-2

=73.5cml

Volume =Areaxlength

(ii) Length = 1470+73,5
= 20cm

(c) (D Line segment AB

Line segment AD

Any right angle

Completed
shape

(iD

cAo

BC = 6.7cm FT

FT

A B c

I

I

I

I 1 I

I

I

I

I 2

I

I

I

I

2

4 2

6 3 3

0I234020/MS/SPEC 2008



6

MATHEMATTCS
PAFE8. 02 -GEN&*AI lRBCIFrcil@$cY

KSYAFID MARK#qHEM-B

Or.restion 5

(a) (i) Transfonnation:

Enlargement

Ssale factor - 2

Centre: Q, -l)

See graph paper

A( = ABz +BC2 -z(AB)(BC)cosE
= (32)2 +(45)2 -2(32)(45)cos50"

= 1197.77

AC = 34.6kn

45 34.6
-=sinA sin 50o

or 85.Io

Bearing of C from A is

270 +85.1o = 355. I o

(i0

(b)

FT

FT

A B c

I

I

I

I

I

I

2 2 2

I

I

I

I

1

I

I 2 3

3 4 f,

017340?0/MS/SFEC 2008



MATHEMATICS
PAPER 02 - GENERAL PROFICIENCY

KEY AND MARK SCHEME

(To be attached in booklet with your other answers)

Candidates Resistration Number: Question Number: 5
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(ii)

E

MAf,IIEMATICS
PAPER 02 - GENERAL PROFIEIENCY

KEYAND ll{ARKtrIIEilfiE

Ouesion 6

(a) y=ntx+c A(-5,3)

)
3:1(-5)+c x=-5iy:3

)

c=5

Hence.v=?x+s FT
.J

L:-SY= 1
+ -5Y= | -21c

2xl= v:  - - --55
The lines have ilre same gradientn hence they are parallel.

a) s(3) =4(3)-s
-?

b) fsQ) =fr4(2)-51 = fr3) =#

_5
6

'  t * - l
c) f'(x): y- L

-  x+3

2v - l
-T= -_y+3

2y- l  :xQt+3)

2y- l  =ry*3x

ZY-ry =3x* I

Y(2-x):3r* I

3r+1v =_ 
-

f '1x;' : ld+ l

A B c

I

I

I

I

I

3 2

I

I

I

I

2 2 3

2 5 5

0t234020/MS/SPEC 2008
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Ouestion 7

(a) (i)

( i i )

(iii)

(b)

(c) (i)

(ii)

(iii)

9

MATHEIUATICS
PAPER 02 . GENERAL PROFICIENCY

KEY AIID IUARK SCHEME

Time: 16 -20

Frequency:9

Cumulative Frequency: 2, 6, ll, 20, 24, 25

Correct scale on both axes

3 or more points plotted correctly

All points plotted correctly with class boundaries

Smooth curve drawn through the points

Median is (21.5+l) rninutes FT

No. of students who spent less than24minutes is (17 + l)
FT

P (<24)= l7
25

01234020/MS/SPEC 2008
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MATHEMATICS
PAPER 02 _GENERAL PROFICIENCY

KEY AND MARK SCHEME

(To be attached in booklet with your other answers)

Candidates Registration Number:

l

01234020/MS/SPEC 2008

Question Number: Z
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g

)(i)

(a)

Ouestion 8

(ii) I

IAlI

(iii) n

Series

13+23+33+43+53

lAlI

Sum Formula

zzs T(,.t'
lBll

IBU

tzs6 
f tr *e),

lBll
7

i( + ')'

lcu

4

I

(b) (i)

(ii)

l+Z+3+4+5+6=J6

=21

l+2+3+.. .+n= 
^ l )$+n) 'l |4 '

= n ( t+n)
2

t  + z + 3 + 4 +. . .  + 30 = !9(r  * :o)
2'

= 465

cAo

F'T

FT

(iiD

A B c

I

I

2

I

2 3 I

I

I

I

I

I I 2

3 4 3

0I2340?0/MS/SPEC 2008



Ouestion 9

(a)

Whenx =-3r!=-5
x:2,  y=0

l2

IT,IATHEMATICS
PAPER 02 - GENERAL PROT'ICIENCT

KEY AND II4ARK SCHEME

+*+x-6=o
:+ (x + 3) (x -2)

x=-3 orx=2 cAo

FT

(b) (i)

(ii)

(c) (i)

(ii)

(iii)

3i+zrc+t=t ! , , . r i , ] . t

= ' [".+]' -,(*)' .'
= g l ,"*1) '*?

\3/3

a) Minimum value for f(x) is 3 FT
3

b) the equation of the axis of symmetry is r = * FT
J

Speed was 40 km/h at l0:45

Distance haveled is the area under the graph, which is

the area ofa trapezium I t, * 2.5) g0 = 220 knt
z

FT
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Ouestion l0

(a)

(ii i)

<CBD=<DAC=4lo
Angles in the same segment of a circle are equal

<CAB = <CDB (same segment)
and<CDB= 180-(80+71)

= 29o
opposite angles in a cyclic quadrilateral

Bv the sine rule: 
AB - BD

- sin 7l sin 70o
9.5 BD= _=-

sin 7l sin 707
BD = 9.44 cm

(D By the cosine rule: az = bz + t -Zt" cos A
:+ 62 = 52 + s2 -2(5) (5) cos o

cos 0 = 0.28
0 = 73.70 FT

(i iD

Area of triangle = Vz aD sin 0
= %(s) (5) sin (73.7) FT
= 12.0 cm2 oy

naq

Area of the sector - 't'' xfit2
160

- 73'7 xl5x3.l4
360

= 16.07 cmz

Area cut off = (16.07 - 12.0) cm2
= 4.07 cmz

(i)

(ii)

(b)

(ii)

A B c
I

I

1

I

I

I

I

I

3 2 2

I

I

I
I

I

I

I J 2

4 7 4

01234020/MS/SPEC 2008



t4

MATHEMATICS
PAPER 02 - GENERAL PROFICIENCY
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Ouestion I I

(a) (i) a) oF=(i)

b) Ra=(fo)_(3)=(1)

(iiD

(b) (a u) / r \  ( -+\
f  c a ) \+)=[  - tJ

(: :) (3)=(:i)
a*4b=4

3a+5b=-5

3a+ l2b=-12

7b=-7

b=-l

a=0

(iD c*4d =- l

3c+5d :-3

3c + lZd: -12

c =- l

d=O

(iiD 
rhe matrix K 

( o
'  [ - r

line

y=-x

t) ,"or"."nts a reflection in the

(ii) 
lo4=Jm

=Jzo

OP and RQ
- have the same length/magnitude
- are parallel
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APPENDIX I

Profile Dimensions

The questions in each paper arc classified according to the cognitive levels defined as follows:

The Paper 02 is weighted as followsr

PROFILES Section I Section II TOTAL
Knowledge 28 8 JO

Comprehension 34 14 48
Reasoninp 28 I 36
Total 90 30 120

Explanation of codes

CAO: Correct Answer Only - only the correct answer will be accepted for the award of
mark.

FT: Accept the answer given by the candidate, which was obtair-red usiug the correct metftods
procedures.

the

and

Profile Coenitive Level Descrintion

A Knowledge
Items that require the recall of rules, procedures, definitions
and facts, that is, items characterized by rote memory as well
as simple computations, computation in measurements,
constructions and drawings.

B Comprehension
Items that require algorithmic thinking that involves
translation from one mathematical mode to another. Use of
algorithms and the application of these algorithms to familiar
problem situations.

c Reasoning

Items that require translation of non-routine problems into
mathematical symbols and then choosing suitable algorithms
to solve the problems; combination of fwo or more
algorithms to solve problems; use of an algorithm or part of
an algorithm, in a reverse order, to solve a problem; the
making of inferences and generalizations from given data;
justification of results or statement; analyzing and
synthesizing.

0r234020/NIS/SPEC 2008



CARIBBEAN EXAMINATIONS COUNCIL

SECONDARY ED UCATION CERTIFICATE
EXAMINATION

SPECIMEN
MULTIPLE CIIOICE QTIESTIONS

FOR

I\,IATIIEIIIATICS

READ THE FOLLOWING DIRECTIONS CAREF'ULLY

Each item in this testhas four suggested answers lettered (A), (B), (C), (D). Read each item
you are about to answer and decide which choice is best.

SampleAnswer

o@o@

The bestanswertothis item is "8a", so answer space (A) has been shaded.

There are 30 items in this specimen paper. However, the Paper 01 test consiste of
50 items. You will have 90 minutes to answer them.

Copyright @ 2008 Caribbean Examinations Council.
All rightsreserved.
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6.The num ber 2 7 47 writtento 3 si gn ifi cant
figuresis

(A) 2740
(B) 27s0
(c) 274
(D) 27s

The number 3 754 expressed to the nearest
hundredis

3700
37s0
3 800
4000

0.045 x 10-3 in scientific notation is

(A) 4.5 x 10'6
(B) 4.5 x l0{
(C) 4.5x l0{
(D) 4.5x l0''

(0. I  + 0.01) (0. I  - 0.01) --

Which ofthe following sets has an infinite
numberofmembers?

(A)
(B)
(c)
(D)

{fbctorsof20}
{multiplesof20}
{odd numbers between I 0 and 20 }
.{ prime numbers less than 20 }

7.2.

(A)
(B)
(c)
(D)

3.

4.

What isthe valu" of (rf in its simplest
form?

The shaded area in the Venn diagram
above represents

(A) (P w Q)'
(B) (Q w R)'
(C) (PaQ)'wR
(D) (PwR)'nQ

Howmuch simple interest is dueon a loan

of$ I 200 fortwo years ifthe annual rate of

interest is 5l per cent?
2'

(A) $120.00
(B) $132.00
(c) $264.00
(D) $330.00

8.
(A)
(B)
(c)
(D)

0.0001
0.001
0.009
0.0099

5.

8
2l

7
3

7
2

49
;
J

(A)

(B)

(c)

(D)

01234010/SPEC2008
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Item 9 refersto thechartshown below. 12.

Rate on Fixed Deposits

2008
2009

7.8%
7.sYo

How much more interest would a fixed
deposit of $10 000 earn in 2008 than in
2m9.?

(A) $ 0.30
(B) $ 3.00
(c) $30.00
(D) $33.00

Consumption tax and customs duty are
calculatedasfollows:

Consumptiontar 20Yoofvalue
Custom'sduty 50oZofvalue

What is the total tax paid on an article
which isvalued at S I 50.00?

$ 45.00
$ 90.00
$r0s.00
$120.00

The water authority charges $ I 0.00 per
month forthe meterrent $25.00 forthe first
I 00 litres and $ I .00 foreach additional I 0
lites. Whatisthetotal bill for250 litnesused
inonemonth?

$25.00
$3s.00
$40.00
$s0.00

Seven times the product oftwo numbers, a
and b, may bewritten as

7ab
7a+ b
7a+7b
49ab

13. lf 2(x - l) - 3.x: 6, then.r =

3m2n3x4mn2:

(A) 7m3n5
(B) r2nffi
(C) l2nfrf
(D) 7m2n5

3x+l r+l

(A)
(B)
(c)
(D)

(A) -8
(B) -4
(c) 4
(D) 8

14.

10.

15.
4

5x+l
4

(A)

(B)

(c)

(D)

(A)
(B)
(c)
(D)

11.

5x +3
4

7x+3
4

7x+l

Howmany litresofwaterwould acontainer
whose volume is 36 cm3 hold?

0.035
0.36

36
3600

(A)
(B)
(c)
(D)

16.

(A)
(B)
(c)
(D)

012340r O/SPEC2008
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20.The width of a block of wood with

rectangularcross-section is-rcm. Its height
2

is ; its width and its length is 4 times its
J

height. What is its volume in cm3?

Item lE refers to the following trapezium.

3cm

A B C D is atapezium and A D E is a triangle.
Angles 8, C and E are right angles.

The area ofth e tapezium A B C D is

E cm2
l6crn3
30cm'z
32qr(

A circularholewithdiameter6 cm is cutout
ofacircularpieceofcardwith adiameterof
I 2 cm. The area ofthe remaining card, in
cm2, is

6n
27r
36n

l08r

The mean often numbers is 5 8. Ifone of
the numbers is 40, what is the mean ofthe
othernine?

Items2l -22 refertothetable belowwhich
shows the distribution ofthe ages of 25
children inachoir.

What is the probability that a child chosen
at random isAT LEAST I 3 yearsold?

(A) 18
(B) 60
(c) 162
(D) ffi(A) f

(B) ry
(c) ,g
(D) +

2t.

18.

4
(A) 

2s

(B) 
*

19.

t4(c) E

t6
(D) 

2s

(A)
(B)
(c)
(D)

(A) 4
(B) 6
(c) ll
(D) 16(A)

(B)
(c)
(D)

22. What isthe mode ofthis distribution?

Age l l t2 l3 L4 l5 t6

No.ofchildren 6 3 5 4 4 3

012340r0/sPEc2008
GO ON TO THE NEXT PAGE



-6-

23. Thoerywion oftte linewhleh pqssesthmugh
I

thepoint(0, 2) andhas agradientof 
1 

is

(A) y=3x

(B) y=3xt2

1

(c) t= 1*
I

(D) Y= -x*2
J

If g is a function such thatg(x/ = 2x* l,
which ofthe follorving pain sdisfi€s thc
fimction?

(-3, -5)
(-6,11)
(5,2)
(13,6)

What ie the gradient of a line which psses
through the points (-4, 3) and (-2, 5P

(A) 4

- l
(B) T

I
(c) ?

(D) ;

The sizes ofthe ineriorangles ofa polygon
are.xo, ?f ,60o,3t' and 35o. What is the
valueofx?

A plane travels ftom point.,4 on a bearing
I 50to apoint.B l0 km from,4. How far
eastofl is.B?

(A) l0oos 300
(B) l0cos 600
(C) l0sin60o
(D) l0tan3ff

[4!! refers to the diagram below.

B

Tnenrgle ABCis an enlalgementoftiangle
r{DEsuchthat

AD -AE *I
DB EC2

lftheweaABC -36cmz

Then the areaof DEC B incmr is

n.

24.

25.

26.

(A)
(B)
(c)
(D)

28.

(A) 18
(B) 24
(c) z7
(D) 32

(A) t4
(B) 16
(C) M
(D) 74

01234010/SPEC2008
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29. The point P(2, -3) is rotated about the
origin through an angle of90" in an anti-
clockwise direction. What are the co-
ordinates ofthe image P?

Item 30 refers to
which angle QPR
and PP:5 

"* .

the triangle PQR, in

- 90o. PR.= 12 em

(A)
(B)
(c)
(D)

(3,2)
(2,3)
(-3, ?)
(3,1)

30. Thelengthof9& incm, is

IFYOUFII\IISHBEFORETIMEIS CALLED,CIIECKYOTIRWORKONTHIIITEST.

(A) 7
(B) ll
(c) 13
(D) 17

01234010/sPEc2008
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